EUA REVIEW

Triangle Trig Quiz 2019 Name K@ La_. Date Period

1. /4 marks]

The following diagram shows triangle ABC, with AB = 3 cm, BC = 8 cm, and ABC =3.

diagram not to scale
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Show that AC = 7 cm.

2. [6 marks]

The following diagram shows triangle PQR.

diagram not to scale
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PQR =30°, QRP =45°and PQ = 13 cm.

Find PR.
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3a. [2 marks]

A ship is sailing north from a point A towards point D. Point C is 175 km north of A. Point D is 60 km north of C.
There is an island at E. The bearing of E from A is 055°. The bearing of E from C is 134°. This is shown in the

following diagram.

diagram not to scale
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Find the bearing of A from E. 235 °
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Finds CE.

3c. [3 marks]

Find DE DE = bo’i\—lqb’—D(uo)(wu)cos|3q0 2 193 Km
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4a. [3 marks]

The following diagram shows triangle ABC.



Find AC.

4b. [3 marks]

Find BCA.

5a. [4 marks]

B diagram not to scale
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AB=6cm. BC=10cm. and ABC =100°.

Ac = c,a+‘°2-:(u)(to)C£>SIoO .S em

tntoo 6
Sin0  Sin 00 C=sin -‘-‘—5"—”——-" A AR D
2T w Mas 2.5

In triangle ABC, AB = 6 cm and AC = 8 cm. The area of the triangle is 16 cm?.

Find the two possible values for A (

H = '_"QLT)SI”.-
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5b. [3 marks]

Sin(le) =h AR 41.8°

Given that A is obtuse, find BC.
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6a. [1 mark]

The diagram below shows a quadrilateral ABCD with obtuse angles A]§C and AﬁC.

diagram
not to scale

AB=5cm,BC=4cm,CD=4cm AD=4cm,BAC = 30°, ABC = z°, ADC = ¢°.

Use the cosine rule to show that AC = /41 — 40 cosz .
6b. [2 marks]
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Use the sine rule in triangle ABC to find another expression for AC.
Sin30° » Sinx Hanx= AC §in 30 )
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6c. [6 marks]
1) Hence, find x, giving your ansvaver to two decimal places.
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(i) Find AC. Cind X ~2 o
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(i) Hence, or otherwise, find the area of triangle ACD.
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/%.4[4 marks]

Consider the following circle with centre O and radius r.
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1b. [5 marks :
oo e e hat PE = Dl = ~Ngrall-Cos (28))
'+ - Letlbe the length of the arc PRQ. =Qe2 ((-C1-Sin %) )
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Consider the function f(8) = 2.6sin6 — 20, for 0 < 6 < 7.

(i) Sketch the graph of f.

(i) Write down the rootof f(8) = 0.

ﬁ. [3 marks]

Use the graph of fto find the values of @ for which ! < 1.3PQ.
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2a. [2 marks]

The diagram below shows a circle with centre O and radius 8 cm.

diagran:
not to scale
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The points A, B, C, D, E and F are on the circle, and [AF] is a diameter. The length of arc ABC is 6 cm.

Find the size of angle AOC. S b
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= %md. z %rac\

2b. [6 marks]
Hence find the area of the shaded region.
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The area of sector OCDE is 45 ¢m?.
qs= L (9 (COE)
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Find EF. CF = ﬂr%?; 3:_.__5_\)(;)(513005 (0.955)
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3a. [3 marks]

The following diagram shows a circle with centre O and radius 4 cm.

diagram not to
scale

The points A, B and C lie on the circle. The point D is outside the circle, on (0C).

Angle ADC = 0.3 radians and angle AOC = 0.8 radians.

FindAD.  AAS Sino-3 . 5.0 Ao = 451a08 4. Tem
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3b. [4 marks]
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3c. [2 marks]

Find the area of sector OABC. A= Ja_ 6 = _% (4o 33 "o 4Cm G

3d. [4 marks]

Find the area of region ABCD.
Prea & A = 5 (a)XB)S5n 0
= 5 (W) Sin (2.04)
= '7 . 5 Cnf\a
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